

EXISTENCE OF A LATTICE NON MEASURABLE

D.V.S.R.ANIL KUMAR, M.RAJAPAVANKUMAR, VENKATA SUNDARANAND PUTCHA

Abstract: This paper prescribes that the existence of lattice non measurable in $[0, 1)$. For this we prove, if E is a lattice measurable and $\alpha \in [0, 1)$, then $E + \alpha$ is lattice measurable. Also $m(E + \alpha) = m(E)$ and if E is a lattice measurable, $E \leq [0, 1)$ and $\alpha \in [0, 1)$, then $E \oplus \alpha$ is lattice measurable and also $m(E \oplus \alpha) = m(E)$.

Venkata Sundaranand Putcha is supported by DST-CMS project Lr.No.SR/S4/MS:516/07, Dt.21-04-2008 and the support is gratefully acknowledged.

Keywords: Lattice, Lattice measure.

Introduction: In this paper the definitions and foundations of the lattice theory are based on measure theory. Incidentally the Caratheodary outer measure is a direct generalization of the Borel - Lebesgue outer measure is a well known form of Real Analysis. Hence the lattice measure m on the σ - algebra $\sigma(L)$ have the following properties. (1) For an interval J , $m(J) = 1(J)$ (2) If $\{E_n\}$ be a sequence of disjoint sets (For which m is

$$\text{defined), } m(\bigcup_{n=1}^{\infty} E_n) = \sum_{n=1}^{\infty} m(E_n) \quad (3) \text{ } m \text{ is translation}$$

invariant, that is, if E is a set for which m is defined and if $E + \alpha$ is the lattice

$$\{x + \alpha \mid x \in E\} \text{ then } m(E + \alpha) = m(E)[1].$$

By Szasz [3], we know that every $\{a\}$ is a sublattice of L . Furthermore L is also a sublattice of itself. The sublattices of L other than itself are called proper sublattices of L . That is the proper sublattices consisting of more than one element are called non trivial sublattices.

If a lattice is allowed in $[0, 1)$ we get lattices that some are measurable and some are not measurable. Due to this the concept of lattice non measurable arises. Hereafter we called a lattice non measurable by a Gamma (Γ) - lattice and denote it as Γ - lattice. We construct a Γ - lattice by using the definition of variety of lattices. A variety is trivial if and only if it contains one - element lattices only. In section 2, is devoted to the concepts of translate of a lattice, variety of a lattice and the sum modulo 1 of Mona Khare etrl[1], and the result[2] that, if E is a measurable set, then for every $\epsilon > 0$, there is an open set $O > E$ with $m(O - E) < \epsilon$. Also we present the results[2] 3.1, 3.2, 3.3., 3.4. for further development. Further we show that if E is a lattice measurable and $\alpha \in [0, 1)$, then $E + \alpha$ is lattice measurable and also $m(E + \alpha) = m(E)$. As well as if E is a lattice measurable, $E \leq [0, 1)$ and $\alpha \in [0, 1)$, then $E \oplus \alpha$ is lattice measurable and also $m(E \oplus \alpha) = m(E)$. Finally we construct a lattice non measurable in $[0, 1)$

Preliminaries:

Definition2.1.Let E be a lattice measurable. Then the translate of a lattice E denoted by $E + \alpha$ and defined it as the set of all $x + \alpha$ such that x belongs to E and α belongs to $[0, 1)$.

Definition2.2.If x and α are real numbers in $[0, 1)$, we define Sum modulo 1 (or closed under \oplus) of x and α to be $x \oplus \alpha = (x + \alpha) \wedge 1$ if $x + \alpha < 1$ or $(x + \alpha - 1) \wedge 1$ if $x +$

$\alpha \geq 1$.

Definition2.3. If a lattice measurable set $E \leq [0, 1)$ and α belongs to $[0, 1)$. Then we define the lattice translate modulo 1 of E is denoted by $E \oplus \alpha$ and defined as set of all $x \oplus \alpha$ such that x belongs to E and α belongs to $[0, 1)$.

Definition2.4. We know that every $\{a\}$ is a sublattice of L . Furthermore L is also a sublattice of itself. The sublattices of L other than itself are called proper sublattices of L . That is the proper sublattices consisting of more than one element are called non trivial sublattices. Here we define a sublattice consisting only one element is called trivial sublattices and class of all trivial sublattices is called variety of lattice.

Note2.2.A variety is trivial if and only if it contains one - element lattices only.

Result2.1. If E is lattice measurable set then for every $\epsilon > 0$ there is an open lattice $O > E$ with $m(O - E) < \epsilon$.

Result2.2. The difference relation \sim in $[0, 1)$ is an equivalence relation.

Proof. Define \sim in $[0, 1)$ as follows. For all x, y belongs to $[0, 1)$ if $x \sim y$ iff $x - y$ is a rational number. Clearly $x - x$ is a rational number. implies $x \sim x$ implies \sim is reflexive.

Let $x \sim y$ implies $x - y$ is a rational number, $y - x$ is also rational number implies $y \sim x$ implies \sim is symmetric.

Let $x \sim y$ and $y \sim z$ implies $x - y$ is a rational number and $y - z$ is a rational number implies $x - y + y - z = x - z$ is a rational number implies $x \sim z$ implies \sim is transitive. Therefore \sim is equivalence.

Construction Of Lattice Non Measurable:

Result3.1.[2].If E_1, E_2, \dots are pair wise disjoint lattice measurable sets, and $E = \bigcup_{k=1}^{\infty} E_k$, then E is lattice measurable (or) Every σ - lattice is lattice measurable

$$\text{and also } m(E) = \sum_{k=1}^{\infty} m(E_k).$$

Result3.2.[2].Suppose that $\{E_k\}$ is monotonic increasing sequence of lattice measurable sets and

$$E = \bigcup_{k=1}^{\infty} E_k. \text{ Then } m(E) = \lim_{n \rightarrow \infty} m(E_n).$$

Result3.3.[2].If E_1, E_2, \dots are lattice measurable sets,

then $\bigwedge_{k=1}^{\infty} E_k$ is lattice measurable (or) every δ -lattice is lattice measurable.

Result3.4[2]. Suppose that $\{E_k\}$ is a monotonic decreasing sequence of lattice measurable sets and $E = \bigwedge_{k=1}^{\infty} E_k$. Then $m(E) = \lim_{n \rightarrow \infty} m(E_n)$.

Result3.5. If E_1, E_2, \dots are pair wise disjoint lattice measurable sets and

$$E = \bigvee_{k=1}^{\infty} E_k \text{ then } m(E) = m(\bigvee_{k=1}^{\infty} E_k) = \sum_{k=1}^{\infty} m(E_k) = \lim_{n \rightarrow \infty} m(E_n).$$

Proof. Evidently this result is proved by using result3.1. and 3.2.

Lemma3.1. If E is a lattice measurable and $\alpha \in [0, 1)$, then $E + \alpha$ is lattice measurable. Also prove that $m(E + \alpha) = m(E)$.

Proof: Let E be a lattice measurable and $\alpha \in [0, 1)$.

By result2.1. E is a lattice measurable.

So there exists an open lattice $O > E$ with $m(O - E) < \epsilon$ (1). Since O is an open lattice, $O + \alpha$ is also an open lattice. clearly $O + \alpha > E + \alpha$. Which implies $(O + \alpha) - (E + \alpha) = (O - E) + \alpha$ (By Definition2.1.). We have $m((O + \alpha) - (E + \alpha)) = m((O - E) + \alpha) = m(O - E)$. (m is translation invariant) Hence $m((O + \alpha) - (E + \alpha)) = m(O - E) < \epsilon$ (From (1)). Therefore $E + \alpha$ is lattice measurable. Also evidently $m(E + \alpha) = m(E)$ (m is translation invariant).

Lemma3.2. If E be a lattice measurable, $E \subseteq [0, 1)$ and $\alpha \in [0, 1)$ then $E \oplus \alpha$ is lattice measurable also $m(E \oplus \alpha) = m(E)$.

Proof. Let E be a lattice measurable and $E \subseteq [0, 1)$ and $\alpha \in [0, 1)$. Now $[0, 1) = [0, 1 - \alpha) \vee [1 - \alpha, 1)$ and $[0, 1 - \alpha) \wedge [1 - \alpha, 1) = \emptyset$. Evidently $E = E \wedge [0, 1) = (E \wedge [0, 1 - \alpha)) \vee (E \wedge [1 - \alpha, 1))$.

Let $E_1 = E \wedge [0, 1 - \alpha)$ and $E_2 = E \wedge [1 - \alpha, 1)$. Clearly $E = E_1 \vee E_2$ and $E_1 \wedge E_2 = \emptyset$. (Since E is lattice measurable) implies E_1 and E_2 are lattice measurable sets. By Result3.1. So $m(E) = m(E_1 \vee E_2) = m(E_1) + m(E_2)$ (1). Since $E = E_1 \vee E_2$ implies $E \oplus \alpha = (E_1 \oplus \alpha) \vee (E_2 \oplus \alpha)$ (2). Now $E_1 \oplus \alpha = \{x \oplus \alpha \mid x \in E_1\} = \{(x + \alpha) \wedge 1 \mid x \in E_1\} = \{x + \alpha \mid x \in E_2\} = E_1 + \alpha$. Also $E_2 \oplus \alpha = \{x \oplus \alpha \mid x \in E_2\} = \{(x + \alpha - 1) \wedge 1 \mid x \in E_2\} = \{x + \alpha - 1 \mid x \in E_2\} = E_2 + (\alpha - 1)$. By Lemma3.1. $E_1 + \alpha$ and $E_2 + (\alpha - 1)$ are lattice measurable. Which implies $m(E_1 \oplus \alpha)$ and $m(E_2 \oplus \alpha)$ are lattice measurable. Hence $m(E \oplus \alpha)$ is lattice measurable (From (2) and Definition 2.3.). Also $m(E_1 \oplus \alpha) = m(E_1 + \alpha) = m(E_1)$ and $m(E_2 \oplus \alpha) = m(E_2 + (\alpha - 1)) = m(E_2)$ (Since m is translation invariant). Also we see that $(E_1 \oplus \alpha) \wedge (E_2 \oplus \alpha) = \emptyset$. Let $x \in (E_1 \oplus \alpha) \wedge (E_2 \oplus \alpha)$. Which implies $x = a \oplus \alpha = b \oplus \alpha$ where $a \in E_1$ and $b \in E_2$. Then $a + \alpha = a \oplus \alpha = b \oplus \alpha = b + \alpha - 1$ Which leads to $a + \alpha = b + \alpha - 1$ Hence $b - a = 1$ a

contradiction to the fact $b - a < 1$. Therefore $(E_1 \oplus \alpha) \wedge (E_2 \oplus \alpha) = \emptyset$. So by (2) $m(E \oplus \alpha) = m(E_1 \oplus \alpha) + m(E_2 \oplus \alpha) = m(E_1) + m(E_2) = m(E)$ (From (1)).

Theorem3.1. There is a lattice non measurable in $[0, 1)$.

Proof: Define a relation \sim (difference relation) on $[0, 1)$. Clearly this difference relation is an equivalence relation (From Result2.2.). Now this equivalence relation partitions $[0, 1)$ into disjoint equivalent classes so that the difference between any two elements present in a same equivalent class is a rational number and the difference between any two elements from different equivalent classes is an irrational number. By variety of lattice (Definition2.4.) let P be a lattice which contains exactly one - element from each of the equivalent classes. That is $P \subseteq [0, 1) \dots (1)$. Since all the rational numbers present in $[0, 1)$ are countably infinite, they can be written

in the form of a sequence $\{r_n\}_{n=0}^{\infty}$ with $r_0 = 0$ and $r_n \neq r_m$ for $n \neq m$. Define $P_n = P \oplus r_n, n = 0, 1, 2, \text{etc} \dots \dots (2)$.

Now $P_0 = P \oplus r_0 = P$. We claim that $P_n \wedge P_m = \emptyset$ for $n \neq m$ and $\bigvee_{n=0}^{\infty} P_n = [0, 1)$.

Part (1). To prove that $P_n \wedge P_m = \emptyset$ for $n \neq m$. Let $x \in P_n \wedge P_m$, where m and n are non negative integers. Which implies $x = a \oplus r_n = b \oplus r_m$ where $a, b \in P$. By Lemma3.2. $a + r_n = b + r_m$.

Then $a - b = r_m - r_n =$ rational number. So by our supposition a and b belongs to the same equivalent class. Then $a = b$. Hence $r_n = r_m$ for $n \neq m$. Which is a contradiction since all rational numbers are distinct. Therefore P_n 's are pair wise disjoint.

Part(2). To prove that $\bigvee_{n=0}^{\infty} P_n = [0, 1)$.

Case(1). $P \subseteq [0, 1)$ (From (1)) and $r_n \in [0, 1)$. Then $P \oplus r_n \subseteq [0, 1)$. Which implies $P_n \subseteq [0, 1)$ (From (2)). Hence $\bigvee_{n=0}^{\infty} P_n \subseteq [0, 1) \dots (3)$.

Case(2). Let x be any arbitrary element in $[0, 1)$. Which implies x must be any one of the equivalent class.

Let y belongs to P be an element in which x is present. Then $x \sim y$ is a rational number. Which implies $x \sim y = r_n$. Which leads to $x = y + r_n = y \oplus r_n$ belongs to $P \oplus r_n = P_n$ (Since $y \in P$)

Then $x \in \bigvee_{n=0}^{\infty} P_n$. Hence $[0, 1) \subseteq \bigvee_{n=0}^{\infty} P_n \dots (4)$. By (3)

and (4) We have $\bigvee_{n=0}^{\infty} P_n = [0, 1)$.

Part(3). We show that P is a Γ -lattice in $[0, 1)$. Suppose P is lattice measurable. By Lemma3.2. Each P_n is lattice measurable and $m(P) = m(P_n)$ for all n . Since $[0, 1) =$

$\bigvee_{n=0}^{\infty} P_n$ and P_n 's are pair wise disjoint, we have $1 =$

$$m([0, 1)) = m(\bigvee_{n=0}^{\infty} P_n) = \sum_{n=0}^{\infty} m(P_n) = \sum_{n=0}^{\infty} m(P), \text{ (By}$$

Result 3.5.). Here either $m(P) = 0$ or $m(P) > 0$.

If $m(P) = 0$ then $1 = \sum_{n=0}^{\infty} m(P) = 0$, a contradiction.

If $m(P) > 0$ then $1 = \sum_{n=0}^{\infty} m(P) = \infty$, a contradiction.

Therefore P is a lattice non measurable set. Thus There is a lattice non measurable in $[0, 1)$.

Conclusion: In this paper we established the existence of lattice non measurable in $[0, 1)$. For this we proved, if E is a lattice measurable and $\alpha \in [0, 1)$, then $E + \alpha$ is lattice measurable. Also $m(E + \alpha) = m(E)$ and if E is a lattice measurable, $E \subseteq [0, 1)$ and $\alpha \in [0, 1)$, then $E \oplus \alpha$ is lattice measurable and also $m(E \oplus \alpha) = m(E)$.

References:

1. Mona Khare and Bhawna Singh, Weakly tight functions and their decomposition, IJMMS, 2005:18(2005) 2991-2998.
2. Royden. H.L., Real Analysis, 3rd ed., Macmillan Publishing, New York, 1981.
3. Szasz Gabor, Introduction to lattice theory, academic press, New York and London 1963.

* * *

D.V.S.R. Anil Kumar/T. K. R. Engineering College, Meer Pet/
Hyderabad, A.P. India/Anilkumardaita@Yahoo.In

M. Rajapavankumar /G.V.R & S College Of Engineering & Technology
Ganginenipuram/ Near Budampadu/ Guntur, A.P./India/ Rajapavan127@Gmail.Com

Venkata Sundaranand Putcha Center For Mathematical Sciences-Dst/ Cr Rao Advanced Institute Of Mathematics/
Statistics And Computer Science/ University Of Hyderabad Campus/ Prof Cr Rao Road/
Hyderabad/ India/ Anand_Putcha@Yahoo.Com